UP Board Class 12 Chemistry Question Paper 2023 (Code 347 CA)
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| qoitss : 70

Note : First 15 minutes arc allotted for the candidates to read the question
papecr.

Prdwr : i) oft wT Afard & v WA % i oiE 3e% waw fro o
i) MUY WA § oA % wEE 93 i)
i) 9 &yt I fefau |
iv) el aTEvdes @, TurEtE FHiwo S )

Instruction :
i) All questions are compulsory. Marks allotted to each question are
. given in the margin.
i) In numerical questions, give all the steps of calculation.
iii) 'Give relevant answers to the questions.
iv) ‘Give chemical equations wherever necessary.

1. WYH § yde @3 § 9F fawes feu o € @@ fawe AR 39 A0 I

qﬁﬂﬁﬂﬁ%ﬁﬁq: | |
%) g% 31| A faRE e, e 3R 9 B €, e &
i) Hoiiae 34 iy  3mafte 3 |
iii)  wifcar 3T iv)  WeHEaITH 34 | |
@)  10% FATE Favd a o %200 g [eras § g &1 A/ g
1) >0 g ii) 10-0 g
m) 200¢g iv) 400 g. ]
M T AR & T A i (k) 2.3x10"5Lmol!s™! #1 fufrar #
Hife gl
i) Y I i) w99 Wi .
i) fgdig e | iv) 39 9 ®rE T8 1
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') s i) Tt

ii v) ' 1
HFaRt stfufman wefim @ 2 e

) ARSI i) ZeeE

) d=tfogeres iv) I 3T | l
Fifaet ol fwm 3 @

I} CH3NH, i)  (CH,),NH

i) (CH,),N iv)  (C,Hg),NH. !

Four alternatives are given in each part of this question. Select the
correct alternative and write it in your answer-book :

a)

b)

d)

70022/85

The solid which is electrical conductor, ductile and tensile, is called

1) Molecular solhid 1) lonic solid .
111) Metallic solid iv) Coordinate solid. 1
In a 200 g solution of glucose with 10% mass per cent, amount of

glucose will be

1) S5O0g 1) 1000 g

i11) 20-0 g iv) 40-0 g. l
Velocity constant ( k) for a reaction 1s 2-3 x 10"°L mol™'s™!. Order
of the reaction will be

1) Zero order ii) First order

111) Second order 1v) None of these. l
The base not present in RNA 1s

i) Adenine 11) Guanine

i1i) - Thymine 1v) Uracil. l
Cannizzaro’s reaction is exhibited by

1) Benzoic acid 1) Toluene |

111) Benzaldehyde iv) Formic acid. ]
Carbylamine reaction gives

1) CH,;NH, 11) (CH,),NH |

i11) (CH,),;N iv) (CQHEL_J_.NH. 1
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3 347(CA)

m IR T ™
i) Tt faege &) aremren o F W 4 vz § )

i) 298 KW 020 M KCl fae@a & areisal 0-248 Scm™' 21 370
R AeThan 47 gt ?

)  wum #fE @t efufwar Nzos(g)-+2N02(g]+-%02(g) 310 K ™
N,O; ®I WRIE Frsar 1.24x10?molL™! &t it 30 fomz & v
0-20x102molL"! ® T 310 K W an fgisw =« mrn i
(log,,6-2=0-7924) ' 2

a) Calculate the packing capacity (efficiency) of a simple cubic lattice.

2

b) The structure of a cell of an element is body centred cubic (bcc).
The length of the core of the cell is 200 pm. Density of the clement
is 7 g/ cm°. Determine the number of atoms in 20 g element. 2

c} Give answers : - : 1 + 1
i) Why does the conductnnty of any solution decreases with

dilution ? |
i) Conductivity of ‘020 M KCl solution at 298 K is
0-248 S cm~!. What will be its molar conductivity ?

d) Initial concentration of N,Og in a first order reaction

‘ L2 -
NQOS(g)—>2N02(g)+-;-02[g) was 1-24x10 “molLl" at 310 K,
which remained 020 x 102molL™" after 30 minutes. Calculate
velocity constant at 310 K. (log,,6:2=0" 7924) 2

%) SR Fied WL HiQ 1+ 1
i) O Egd W Hiids Jfuviwer 4 92dr € ?

ii) 39 freeia wt &t qorn | gfora agrd tfues wwre aifueies =
Fd & ? .
¥ FAoeEa & HART : 1 + 1
) NCl, T e & ey NClsqﬁn = ?
11) %Fﬂﬂq vyad ATaHIRRE 991 g ﬁ ?
m wmmhﬁzﬁwmt ? W & Teh Ige0T AT | + ]
¥) D-TE@E adl D-HRW H WE ¥ 3= T HifAw | 2
a) Justify with reasons f &1
i) ~ Why does physical adsorption decrease on increasing
temperature ?
i) Why are the powdered materials better effective adsorbent in
comparison to their crystalline forms ?
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b) Explain the following : Y
1) NCI; occurs but NCIg does not. Why ?
1) Why arc halogens strong oxidising agents ? : Gi
C) What do you mean by bidentate and ambidentate ligands ? 1 :W;
onc ecxample of each.
d)

Differentiate between the structures of D-glucose and D-fructose. 2
%)  0-1molL'KCl faeza 4 q’tm@mmﬂamnﬁﬂu 100 Q &, @4
0.02molL-! KCl faeias & wiwear 500 Q &, @ 0-02 mol L7 KCI
faerae &1 SIeTEaT Ud Ao gred aiEierd ST |

o |
0-1molL-}! KcCl faega & Ie&ar 1-29 Sm 4

@) frefafaa d g sifaa : 1+1+
i) artas faeaa @ Feaa

i) @%ﬁhﬁ-maﬁﬁmmﬁmqﬁmﬁ\h

o e e v A faea & e oA T

- . _ A B
4. a) The resistance of a conduct..wuy cell, ﬁlle W1ltl:1 Oséom;l L “h(:,]
- golution -is 100 Q. If the resistance of this cel_ 18 on illing

0-02 mol L-! KCI solution, then calculate the conductivity and

molar conductivity of 0-02 mol L-! KCI solution. The conductivity of

0-1 mol L-! KCI solution is 1:29 S m~!. | 13 + 13
b) Differentiate between the following : | . TR
1) True solution and suspension

1) Lyophilic and Lyophobic colloid

iii)  Multimolecular and macromolecular colloid.
c) Write short notes on the following :

1) Secondary structure of proteins

i) Peptide bond

111) Monosaccharides.

1+ 1+ 1
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d) _GWC reasons of the following : ¢ . d
1) Aniline dt._')es not exhibit Friedel-Crafts reaction 15 + 13
11) Ethyl amine is soluble in water while aniline is'nm

&) :

YT T SR S |/ 379 a1 9O E ? TF WM F-200 cm?® F™

Wﬁ1‘26gﬁé\?%lﬂﬁ={ﬂq’lﬁ?m

61-022 I~ %)
SOOKWWWWWQWW@W? & Y

@) i) (EEES AffEa & an @ e F ame o e
Co i) {SeE & G99 H FHART| 5 4 8
M Frafafad S FRO Efka TEeR o 40
i) WU YU WEEAEr T AiTE s= et §
ii)  GHHUT YU Yl I NRIR A T gra=ig 8 &1
q) . Frefefea stgeddss difel & IUPAC AW f@fao : L+ 1+1+1

)  [CrCl,(en),]Cl
i)  Cs[FeCl,}

i)  K,[Co(C,0,);]
iv) {CoCl,(NH,),]

a) What do you understand by osmosis and osmotic pressure ?
126 g protein is present in 200 cm® aqueous solution of protein.
Molar mass of protein is 61:022 g mol~!. What will be osmotic

pressure of this solution at 300 K ? 2+2
b) 1) What do you understand by velocity of a chemical reaction ?
| 11) Explain Raoult’s law. 2+2
c) Explain the following with reasons : 2+ 2

1) Transition metals generally form coloured compounds.

1) * Transition metals and their maximum compounds are

paramagnetic.
d) Write IUPAC names of the following coordination compounds :
1% I 41 ¥ ]

1) 1 [CrCl,(en),]|Cl
1) Cs|FeCl,|
i)  K,4(Co(C,0,),]

iv) [CoCl,(NH,),]
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TR R T (Faw vy wdw A —

) TRREE e ¥ faema st @ fem w ¥ )

N R aew sRaieas & g sfvfem R}

W) FERE ) m o @ NaOH faeaa @ e w5t @ 2

W) FERE e & am sfafen s R 2

V) mﬂmm*mmmk7 L+ 1 +14+ .,
E) afeafea et @) deaan fefe

i) 2-FART 3-Afgs 1=A

i) 1,4-SEE FgZ-2-3H g

i) 1-FARY-2-Afe A0

iv)  1-FR-4-ufae aRER

v)  3-ami-2-nfae sg2-2-31 htARRT RN

Haan
1 @1 ¢ A (Fas qHEtE FHiE AT ) —
i mn-q&;maﬂﬂaﬂﬁmxonﬂsmﬂﬁ%mm??
t? ‘

i) qﬂimﬁmﬁﬂﬁamaﬁwmﬁﬁz?

iv) ﬂﬁ[ﬂ'maﬁmKCNW?ﬁ%)

o) FRE @ SR e NaOH HERI E 2 1+ 1+ 141+

6 a) Describe the industrial manufacture of sulphur dioxide gas. Giic
| also chemical equations of the reactions. Give chcrfncal cquations
of the reactions of sulphuric acid with calcium fluoride, copper and

sulphur. 2+1+14+])
| OR

What happens when (Give chemical equations only) —

1) lodine reacts with nitric acid solution ?

1) Chlorine reacts with sulphur dioxide ?

iii)  Chlorine reacts with hot and conc. NaOH solution ?

iv)  Chlorine reacts with fluorine ?

v) Zinc reacts with dil. nitric acid ? 1+ 1+1+1+1
b)  Write structures of the following compounds :

- ) 2-chloro-3-methyl pentane

1) 1. 4-dibromo but-2-ene

iiij  1-chloro-2-methyl benzene

1v) 1-chloro-4-ethyl cyclohexane

v) 3-bromo-2-methyl but-2-ene.

OR

L+1+1+1 !
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What h !
appen .
i) n-bu tylac}‘:'lhcn (Give chemical equation 347(CA)
ii) Methy] lod?c?dc reacts with alcoholjc K"':DCI’_'H!?] —
ether ? © reacts with magnesium in Prese
iii Meth fce of o
) yl bromide reacts with sod Y
ether ? um in Presence of o
ry

reacts with KCN solutio ?
v) Chlorobenzene reacts with aqueous NE.OH ?

&) Qﬁqﬁﬁmmﬁﬁﬁ:waﬁqw|aﬁgﬂ:+1+1+1
e off A W & Rt ¥ w2
Ity FeteletoT ¥ T W & Y frgrfafy fafan e

HOqr
ﬁﬁ%@amﬁﬁwmmA,B,qp,E,F%maqjm:
| - 1+1+1+1+
OH

| @ conc. HNO; P

OH
@ CHCIl, + aq.NaOH B
_____———-—-——’

PHa
CHy—CHy— CH;— O—C—CH,=~CHjg + HI-25 c+ D
CHj
CrO;
ivy CH3CH(OH)CH —— E
(i) LiAlH,4

V) | CHGCOOH —( L
i) Hy0

W) UF &eqs dfte (A ) Fa@e nfas g3 CH,O ¥, 2,4-DNP
(2,4-EARIH A RSN AHTS & WY AT AT HG8Y a8l A’
Hifean FRIEEES il Iuffd § JA™EHE & g T &4 W Th died 37 &
FTWY T &1 ‘A’ e A ETE et Fefem faema & sgafaa 99
HAT & AR A & T WHH A B vl fa@T v &1 3@ wihE 3 g
Yo A0 ¥ U6 SElHos A B AT &, fAaE afvas g3
C,HO0, ¥ AT ‘A’ 91 ‘B H wewie a1 wq@ sifufiragred #1 aazme |

23 + 23

i)

11)

Fuan
AT HY W O (Fa MRS TR fafan ) —
) WA ® 4-FRgEN-4-Afae 9°9-2-30 2
i) OO ¥ 3-SR e 2
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V) RS ame @ roeE CIORERS |
V) A Uewiee @ i QAR 3T 2 perel s L0

Describe the industrial manufacture of cthanol. formed  after
chemical cqualion of reactions. What 1S 'Om | :
dChydmRCnation of ethanol ? Write the mecchanis

dehydration of cthanol to get ethenc.

OR | and
o - ames
Complctc the following reactions and wrntc tl;c_'_ ln +1L+1+1

formula(c)alcf A,B,C,DEF:
*] 24855 sy ‘

. conc., HNO
1) —_— S A
OH

i @ CHCI, + aq.NaOH .

"CHa3

| A
i) CH3—CHQ— CHQ—O—(F—CHQ—CHS + Hl-=» C+ D
CHy

: e
iv)  CHaCH(OH)CH, ~——25

v)  CHycoon L UAM

(i) H,0 |

" An organic compound ‘A’ having molecular formula (CgHgO), gives
orange red precipitate with 2,4-DNP (2,4-Dinitr0phenyl h_yd:_-azm_e]
reagent. ‘A’ gives yellow precipitate on heating with iodine In
presence of NaOH. ‘A’ neither reduces Tollen’s reagent, Fehling's
solution nor decolourises bromine water. It forms a carboxylic at::id

‘B’ having molecular formula C,H,O,, on strong oxidation with

chromic acid. Identify compounds ‘A’ and ‘B’ and explain the main
reactions. - 2% + 23
OR
How will you obtain (Give chemical equations only] —
1) 4-hydroxy-4-methyl pentan-2-one from propanone ?
11) 3-hydroxy butanol from ethanol ?
111) Butanoic acid from butanal ?
iv) .Ethanoic anhydride from ethanoic acid ?
. V) Phenyl ethanoic acid from benzyl alcohol? 1+ 1+ 1+ 1+ 1

A)-2,69,000
4 7{CA)-4,07, https://www.upboardonline.com
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